[15.2]

pr[GeV/e\y*
1.2

18.276 4 0.305 + 0.884 + 1.481
12.215 4 0.059 + 0.364 + 0.886
6.286 +0.025 + 0.171 4+ 0.414
3.168 £ 0.014 £ 0.086 £ 0.192
1.664 = 0.008 % 0.047 £ 0.097
0.876 £ 0.018 £ 0.024 £ 0.050
0.491 + 0.005 + 0.014 + 0.028
0.308 = 0.000 £ 0.013 £ 0.018
0.184 = 0.000 £ 0.007 £ 0.011
0.122 =+ 0.002 + 0.004 £ 0.007
0.090 + 0.001 + 0.004 £ 0.005
0.057 £ 0.001 + 0.003 £ 0.003
0.037 + 0.001 + 0.003 4 0.002

2,25

T /(dprdy”) [mb/(Gev/e)] (Forward)
2.5

3

3,3.5)

[35.4]

18.390 £ 0.095 £ 0.563 + 1.209
12,020 + 0.024 4 0.352 + 0.701
6.17240.014 £ 0.174 £+ 0.343
3.020 4 0.005 £ 0.154 £ 0.161
1.543 £ 0.005 % 0.046 = 0.082
0.840 % 0.004 £ 0.041 £ 0.045
0.482 + 0.003 + 0.017 £ 0.026
0.280 £ 0.002 + 0.009 £ 0.015
0.176 £ 0.001 + 0.007 £ 0.010
0.110 £ 0.002 =+ 0.004 £ 0.006
0.070 £ 0.001 + 0.004 £ 0.004
0.047 £ 0.001 + 0.002 £ 0.003
0.032 % 0.001 £ 0.002 £ 0.002

17.369 £ 0.020 = 0.607 + 1.013
11.018 4 0.083 + 0.372 + 0.597
5.410 + 0.010 + 0.141 4 0.290
2.708 £ 0.009 £ 0.103 £ 0.145
1.350 = 0.005 % 0.062 + 0.072
0.730 £ 0.004 £ 0.031 £ 0.039
0.405 + 0.002 + 0.019 + 0.022
0.240 £ 0.002 + 0.011 £ 0.013
0.141 £ 0.002 +£ 0.007 £ 0.008
0.091 = 0.001 £ 0.005 £ 0.005
0.061 = 0.001 + 0.004 £ 0.004
0.039 £+ 0.001 + 0.003 £ 0.002
0.029 + 0.001 + 0.002 4 0.002

15.329 4 0.080 + 0.439 £ 0.885
9.205 4 0.026 + 0.260 + 0.506
4.552 4 0.010 £ 0.231 + 0.249
2.160 4 0.008 £ 0.117 £ 0.118
1.062 £ 0.005 £ 0.062 % 0.059
0.568 % 0.004 = 0.037 £ 0.032
0.308 + 0.003 + 0.021 + 0.018
0.177 £ 0.003 £ 0.015 £ 0.011
0.110 £ 0.002 =+ 0.010 £ 0.007
0.066 £ 0.002 + 0.005 £ 0.004
0.039 4 0.002 + 0.004 + 0.003

11.032 £ 0.108 + 0.632 + 0.631
7.066 + 0.035 £ 0.608 + 0.400
3.498 + 0.020 + 0.245 4 0.198
1.566 = 0.014 4 0.133 + 0.092
0.757 £ 0.009 £ 0.065 £ 0.046
0.373 £ 0.015 £ 0.049 £ 0.024
0.200 = 0.008 + 0.026 + 0.014
0.112 + 0.010 + 0.014 = 0.009

13, 14]

20.016 + 0.220 £ 0.866 + 2.666
12,676 £ 0.044 = 0.377 £ 1.373
5.957 £ 0.018 £ 0.154 £ 0.629
2.788 +0.010 £ 0.091 + 0.276
+356 £ 0.006 £ 0.042 + 0.130
0.687 + 0.007 £ 0.016 + 0.065
0.382 £ 0.009 £ 0.012 £ 0.035
0.214 % 0.002 £ 0.007 £ 0.020
0.130 £ 0.001 + 0.005 + 0.013
0.081 £ 0.001 + 0.004 £ 0.008
0.053 = 0.001 + 0.003 £ 0.005
0.035 = 0.001 + 0.002 £ 0.003
0.023 + 0.000 £ 0.001 & 0.002

[-35.-3]
T8.689 = 0.070 & 0.568 £ 2.120
11.864 £ 0.022 + 0.334 + 1.214
5.600 +0.010 + 0.162 + 0.530
2.522 £ 0.006  0.065 £ 0.230
1188 0.002 + 0.035 + 0.105
0.593 £ 0.001 + 0.020 £ 0.053
0.314 £ 0.002 £ 0.010 £ 0.029
0.175 4 0.001 £ 0.006 + 0.016
0.102 £ 0.001 £ 0.004 = 0.009
0.062 £ 0.001 £ 0.003 =+ 0.006
0.040 % 0.001 + 0.002  0.004
0.026 + 0.000 + 0.002 £ 0.002
0.017 £ 0.000 £ 0.001  0.002

o /(dprdy") [mb/( Gev/e)] (Backward)
—4.-35

17.293 £ 0.065 = 0.508 + 1.756
10.054 £ 0.018 = 0.233 + 0.955
4.519 £ 0.008 £ 0.138 4 0.418
1.996 + 0.006 £ 0.104 + 0.175
0.912 + 0.005 + 0.039 £ 0.079
0.428 +0.001 + 0.018 £ 0.037
0.226 £ 0.001 £ 0.012 £ 0.020
0.118 £ 0.001 £ 0.005 £ 0.012
0.067  0.001 + 0.004 + 0.006
0.041 + 0.001 + 0.003 £ 0.004
0.024 =+ 0.001 + 0.002 £ 0.002
0.015 = 0.000 £ 0.001 £ 0.002
0.010 = 0.000 + 0.001 = 0.001

4.5, 4]

14.348 + 0.206 £ 0.683 = 1.395

692 + 0.020 £ 0.248 £ 0.678
3.246 + 0.010 + 0.155 + 0.284
1.368 0005 % 0.078 £ 0.121
0.585 £ 0.003 £ 0.038 £ 0.054
0.277 £ 0.002 £ 0.020 £ 0.027
0.125 4 0.002 £ 0.011 £ 0.014
0.071 £ 0.002 £ 0.007 £ 0.008
0.033 £ 0.001 £ 0.005 £ 0.003
0.018 % 0.001 + 0.003  0.002
0.022 % 0.002 + 0.005 + 0.003

5 —45
10.639 £ 0.057 = 0.815 + 1.036
5.165 = 0.025 £ 0.526 & 0.478
2.046 =+ 0.014 £ 0.150 £ 0.199
0.766 + 0.009 + 0.077 £ 0.071
0.298 =+ 0.006 + 0.029 + 0.029
0.117 £ 0.004 £ 0.015 £ 0.014
0.068 £ 0.007 £ 0.014 £ 0.009




